
Pneumatic Gripper   
Spare parts list (from week 40/2016) 

GN 32 AS 
 

---- 

 Subject to technical modifications. 13.09.2016 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

Spare Parts  page -1-   

Pos. Part no. Quantity Description Type Flag1 

1_10 446261 2 housing half GN 32 AS  

1_20 446829 1 clamping plate GN 32 AS  

1_30 446262 1 basic body GN 32 AS  

1_40 411249 1 cylinder housing GN 32  

1_50 411262 1 piston rod GN 32  

1_60 230812 1 piston complete PKS 32 RD 

1_70 411265 1 cylinder bottom GN 32  

1_80 411364 2 distance piece GN 32  

1_90 418799 2 clamping hook GN 32 AS  

1_100 411258 1 bush Ø 30.0 / 24.0 x 25 R 

1_110 411287 1 bolt GN 32 R 

1_120 411289 2 roller GN 32 R 

1_130 416394 2 roller GN 32 R 

1_140 206353 4 supporting plate K 40  

1_150 445875 1 cover GN 32  

1_160 413192 2 bush Ø 5.4 / 11.0 x 14.9 R 

1_170 212528 1 scraper Ø 16.0 / 23.0 x 6 RD 

1_180 201728 1 o-ring Ø 27.0 x 3.0 RD 

1_190 200593 2 set screw M8 x 12  DIN 914  

1_200 200685 1 hexagonal nut M10 - 04 DIN 439  

1_210 200888 1 shim ring 10x16x1 DIN 988  

1_220 201366 1 retaining ring I 38 x 1.5 DIN 472 R 

1_230 200484 2 hexagon socket countersunk 
head screw 

M5 x 10  DIN 7991  

1_240 200132 1 hex.socket head cap screw M4 x 6  DIN 912  

1_250 221462 4 hex.socket head cap screw M4 x 14  DIN 7984  

1_260 200414 4 hex.socket head cap screw M5 x 16  DIN 6912  

1_270 200149 2 hex.socket head cap screw M5 x 25  DIN 912  

1_280 200974 5 securing spring washer S 4   

1_290 200975 6 securing spring washer S 5   

2_0 434938 1 circular buffer GN 32 AS - 2x80 Grad (standard)  

 434937 1 circular buffer GN 32 AS - 2x60 Grad  

 434936 1 circular buffer GN 32 AS - 2x45 Grad  

 434935 1 circular buffer GN 32 AS - 2x30 Grad  

 434933 1 circular buffer GN 32 AS - 2x15 Grad  

3_10 411358 1 connection K1 GN 32  

 411571 1 connection K2 complete 
(not illustrated) 

GN 32  

 411719 1 connection K3 complete 
(not illustrated) 

GN 32  

3_20 200155 4 hex.socket head cap screw M5 x 60  DIN 912  

4_20 200149 2 hex.socket head cap screw M5 x 25  DIN 912  

4_30 200975 2 securing spring washer S 5   

5_0 412456 1 clamping jaw GN 32 AS A20  

 434588 1 clamping jaw GN 32 AS A10  

6_0 446244 variabel latch-tightening screw M8 x 25   

7_0 200728 variabel hexagon nut M8 - 8  DIN 985  

8_0 220395 2 hexagon screw M6 x 25  DIN 933  

9_0 200727 2 hexagon nut M6  DIN 985  

10_0 200976 4 securing spring washer S 6  



Pneumatic Gripper   
Spare parts list (from week 40/2016) 

GN 32 AS 
 

---- 

 Subject to technical modifications. 13.09.2016 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

 

spare parts sets / accessories   page -2-   

      
Pos. Part no. Quantity Description Type  

 455609 1 repair kit GN 32 AS  

 438041 1 seal kit GN 32  

4_10 356276 1 limit switch set complete GN 32 AS T12R - T12L  
 

1 R = included with repair kit, D = included with seal kit



Pneumatic Gripper    
Spare Parts Drawing (from week 40/2016) 

GN 32 AS 
 

---- 

 Subject to technical modifications. 13.09.2016 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratingen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de 

 

 
 
 

 
 

 
 
  
 


